HIGHLIGHTS

SmartFlex25 25 0,001 0,3 0,1
SmartFlex50 50 0,002 1,2 0,3
SmartFlex76 76 0,003 2,7 0,8
SmartFlex01 100 0,004 4,7 1,3
SmartFlex015 150 0,006 10 5% 2,7 <3,5%
SmartFlex02 200 0,008 19 5
SmartFlex03 300 0,012 42 12
SmartFlex04 400 0,016 75 21
SmartFlex05 500 0,020 118 33
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Transformation temperatures
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Different cooling methods improving response time after actuation

Standard air convection 1:1
Solid Heat Sink Materials 2:1
Forced Air 4:1
Heat Conductive Grease 8:1
Silicon 10:1
Oil Immersion 25:1
Water with Glycol 100:1
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* Getting quicker time response requires more current to heat the wire
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Different cooling methods improving response time after actuation

Standard air convection 1:1
Solid Heat Sink Materials 2:1
Forced Air 4:1
Heat Conductive Grease 8:1
Silicon 10:1
Oil Immersion 25:1
Water with Glycol 100:1
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* Getting quicker time response requires more current to heat the wire
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Different cooling methods improving response time after actuation.

Standard air convection

Solid Heat Sink Materials 2:1
Forced Air 4:1
Heat Conductive Grease 8:1
Silicon 10:1
Oil Immersion 25:1
Water with Glycol 100:1
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* Getting quicker time response requires more current to heat the wire






